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1. 35 # #4738 £142(hydrogen bond) #: T 3 Z 4 A (ionic interaction) A& B & 77
(van der Waals interactiog)zi 7k 1% %X Z4F A (hydrophobic interaction} 37 88 L i
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By % - 10%

3. FRATIN SR A - 10%
Chitin, Hyluronate, Glycogen, Peptidoglycan, Axse

4. 3F £330 00 A A.(aerobic)k & (&) . (anaerobicyy #2 4k R& T » &) & 454X
A ge £ - 10%

5. 3F 3|83 A A 4b#kBL 1L (Oxidative Phosphorylatios St 4% & 4t
(Photophosphorylation) & 48 B #2468 B 2 &8 - 10%

6. FMATFLANER ° 10%

(a). salting out (b). ion-exchange chromaapdsy
(c). chaperones (d). Two-dimensional electrophsres
(e). ELISA (enzyme-linked immunosorbent assay)

7. 1738 RNA Interference (RNAD2:E 3050 & o9 8 B R R A A WFH
ey AFER? 10%

8. What modifications are effected in the primary mRNrmnscript?
Describe its effect? 10%

9. How dose the twisting into a helix contribute te stability of the overall
structure of DNA? 10%

#2R% 1R



10. Pyruvate and ATP are the end products of glycalysisactive muscle
cells, pyruvate is converted to lactate. Lactateansported in the blood
to the liver where it is recycled by gluconeogesdsi glucose, which is
transported back to muscle for additional ATP paioiin. Why don’t
active muscle cells export pyruvate, which can ab&o converted to
glucose via gluconeogenesis®so



